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Question # 1 
 1 1 2 4 3 7 ..........................× + × + × +  
If kT  denotes the kth term of the series then 

2(3 2) 3 2kT k k k k= − = −  
Let nS  denotes the sum of first n terms of the series then 
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Question # 2 
1 3 3 6 5 9 .........................× + × + × +  

If kT  denotes the kth term of the series then 
2(2 1)(3 ) 6 3kT k k k k= − = −  

 

Now do yourself as above. 
 

 

Question # 3 & 4  
Do yourself as Question # 1 

 
 

Question # 5 
2 2 21 3 5 ....................+ + +  

If kT  denotes the kth term of the series then 
 2 2(2 1) 4 4 1kT k k k= − = − +  
Let nS  denotes the sum of first n terms of the series then 
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Question # 6 
2 2 22 5 8 ....................+ + +  

Let nS  denotes the sum of first n terms of the series then 
 2 2(3 1) 9 6 1kT k k k= − = − +  
Let nS  be the sum of first n term of the series then 

Now do yourself as above 
 

 

Question # 7 
2 2 22 1 4 2 6 3 ...................× + × + × +  

If kT  denotes the kth term of the series then 
 2 3(2 )( ) 2kT k k k= =  
Let nS  denotes the sum of first n terms of the series then 

3 3

1 1

(2 ) 2
n n

n
k k

S k k
= =

= =∑ ∑  

     
2 2 2 2 2( 1) ( 1) ( 1)2 2

2 4 2
n n n n n n+ + + = = = 

 
    Answer 

 

 

Question #8 
 2 2 23 2 5 3 7 4 ...................× + × + × +  
If kT  denotes the kth term of the series then 
 2 2(2 1)( 1) (2 1)( 2 1)kT k k k k k= + + = + + +  
     3 2 22 4 2 2 1k k k k k= + + + + +  

    3 22 5 4 1k k k= + + +  
Let nS  denotes the sum of first n terms of the series then 
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Question # 9 
2 4 7 3 6 10 4 8 13 ......................× × + × × + × × +  

If kT  denotes the kth term of the series then 
 22( 1)( 1)(3 4) 2( 1) (3 4)kT k k k k k= + + + = + +  

    22( 2 1)(3 4)k k k= + + +  
     3 2 23 6 3 4 8 4k k k k k= + + + + +  

    3 23 10 11 4k k k= + + +  
Now do yourself. 

 
  

Question # 10 
1 4 6 4 7 10 7 10 14 ...................× × + × × + × × +  

If kT  denotes the kth term of the series then 
(3 2)(3 1) 2(2 1) 2(3 2)(3 1)(2 1)kT k k k k k k= − + + = − + +  

    2 22(3 2)(6 2 3 1) 2(3 2)(6 5 1)k k k k k k k= − + + + = − + +  
     3 2 22(18 15 3 12 10 2)k k k k k= + + − − −  

    3 22(18 3 7 2)k k k= + − −  
Now do yourself. 

   

Question # 11 
1 (1 2) (1 2 3) ......................+ + + + + +  

If kT  denotes the kth term of the series then 
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Question # 12 
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If kT  denotes the kth term of the series then 
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Let nS  denotes the sum of first n terms of the series then 
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Question # 13 
 2 (2 5) (2 5 8) ....................+ + + + + +  
If kT  denotes the kth term of the series then 

2 5 8 ...........kT = + + + +  up to k terms 
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Now do yourself 
 

 

Question # 14 (i) 
2 2 2 2 2 21 2 3 4 ............. (2 1) (2 )n n− + − + + − −  

If kT  denotes the kth term of the series then 
2 2 2 2(2 1) (2 ) 4 4 1 4 4 1kT k k k k k k= − − = − + − = − +  

Now do yourself 
 

 

Question # 14 (ii) 
2 2 2 2 2 21 3 5 7 ............. (4 3) (4 1)n n− + − + + − − −  

If kT  denotes the kth term of the series then 
2 2 2 2(4 3) (4 1) (16 24 9) (16 8 1)kT k k k k k k= − − − = − + − − +  

    2 216 24 9 16 8 1 16 8k k k k k= − + − + − = − +  
Now do yourself 

 

 

Question # 14 (iii) 
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Question # 15 (i) 
Since 23 1nT n n= + +  
Therefore 23 1kT k k= + +  

Now do yourself 
 
 

Question # 15 (ii) 
Do yourself 

 
 

Question # 16 (i) 
Do yourself as below ( Q # 16 (ii) ) 

 
 

Question # 16 (ii) 
Since 3 2 3nT n n= + +  
Therefore 3 2 3kT k k= + +  

Let nS  denotes the sum of first n terms of the series then 
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